m 24 23 1 22 1 21 1 20 | 19 | 18 | 17 | 16 15 14 | 13 | 12 | 11 | 10 ] 9 ] 8 | 7 | 6 |5 ] 4 ] |2 ] 1 :
q = @
| NOTE: MOUNT ANTENNA LOWER THAN THE LIGHTINIG ROD OF EXISTING STRUCTURE. |
P P
LIGHTNING SUPPRESSOR AND 2 METER CABLE
— SUPPLIED WITH ITEM 26. —
0 BILL OF MATERIAL 0
I SYMBOL _mmo,_u_ DESCRIPTION _ PART NUMBER I
26 1 ANTENNA, 2.4GHz, 9dBi GAIN 91062900A
N 27 1| CABLE, 1.5 METER, REV. SMA 91063100A N:
28 1 TERMINAL, ALUMINUM, GROUND KN771828020
I 29 1 CLAMP, NYLON 91063800A I
W 30 1| ROD,GROUNDING 91063400A 7 :
M 31 1 | SCREW,M5X.5,55T 82716000A HHE Y
U 32 1 NUT,LOCKING,M5,SST 82709100A ——
I @@/ NOT SHOWN| 1 SHIPPING CARTON A16157200A M I
34 1 GROUND WIRE, ALUMINUM, 40 FT. 91063500A N
ADD HEAT SHRINK TO SEAL THIS CONNECTION 35 1| TERM,CRIMP,RING,1/4" 16620300A g §
L / 36 1 | SCREW,1/4-20X0.5,5ST RO234600A LR
37 1| NuT1/4.8ST R0236900A s
I @ 38 1 WASHER,1/4,SPLIT,SST R0233400A & I
@ 39 1 WASHER,FLAT,1/4,SST R0392400A m
- IR :
— 42 g
5 1
| 44 o
7 s I I
W 2 W
] Notes: m [
G 2" DIA. POLE MOUNT KIT AND ’L’ BRACKET . . . . . ile
SUPPLIED WITH ITEM 26. 1. The repeater WG602 is configured for Multi—Point Bridging mode. 1
) DO NOT BREAK GROUND CABLE . -
KEEP GROUND CABLE RUN STRAIGHT. 2. Enter the MAC addresses of both WAPs at each end. JE
F (NO SHARP BENDS) . . _m gy P
_ 3. The WAPs at each end should be setup for Point to Point ki % |
mode with the repeater MAC address. § m 3
E . . . . ] | E
4. The WG602 is configured via a WEB browser with the : w mm
default address 192.168.0.227, USER=admin, PASSWORD=password W il
D z [P |Ecle|p
59 . o i il
— — L0 Caution *** When configuring the WAP be sure that the other E, |2 i3z ®
WAPs are turned off so that you are certain which WAP you (=) WMW s HHER
C are configuring. Qi | 2] C
— |22 |2 —
Ot [ sz |
B Tmmmm A3
| - R AEHEE]
m R 23225 |3 [©]
— w6355 [is| 81 = —
. =k by I
m ofs, B :
A Rl (=552 f” Sla:
a A H NP
B S EEEHAR

: 24 23 | 22 1 21 1|1 20 I 19 | 18 1 17 | 16 15 14 I 13 I 12 I 11 | 10 | 9 | 8 | 7 | 6 I 5 | 4 | 2 | 1




